Ron has shared some grapes equally
between two friends.

=

Ron’s friends

Each friend receives fewer than 50
grapes.

Complete the sentences to describe the
number of grapes Ron started with.

He must have started with...

He could have started with...

He can’t have started with...

| have 24p.

| divide it equally between 2 friends.
How much will they get each?

| have 24p in 2p coins.
How many 2p coins do | have?

Consider the two questions above.
What is the same and what is different?

Tommy and Annie have some counters.

Tommy shares his counters into 2 equal
groups.
He has 15 in each group.

Annie groups her counters in twos.
She has 19 groups.

Who has more counters and by how
many?
How did you work it out?




A party bag contains 5 sweets.
A jar contains 5 party bags.

Sweets

)

Ron has 75 sweets.

How many party bags will he need?

How many jars will he need?

Use the number cards to make
multiplication and division sentences.

How many can you make?

2 20 S

10 4




